Laampron

Power & force

NNNoCTpMpOBaHHbIN KaTaor 3aMacHbIX YacTen

Mopenb: PP126

Ne | Aptukyn HanmeHoBaHue K-8o | Ne [ Aptukyn HaumeHoBaHue K-o
1| 03010110007 | BuHT M5x12 1 34 | 03040010008 | Llaitba 4 2
2 | 70030030695 | Kpblwka Lunuugpa 1 35 | 02070010048 | Llanba nsonupyrowas 2
3 | 03020020055 | BuHT 4x12 1 36 | 02050030124 | MarHeto 1
4 | 03010010062 | BonT M5x20 4 37 | 03020020054 | bonT 4x20 2
5 70070130032 | Unnuuap 1 38 | 02050050213 | MpoBOA BbLIKMKYEHUS 3aXMraHNs 1
6 | L7T Cseua 3axuranus 1 39 | 02080020012 | 3arnywka 1
7 | 02070010032 | Mpoknaaka UMUHAPa 1 40 | 026116710 [Mpoknagka rnywwmTens 1
8 02020020003 | KonbLo nopLuHeBoe 34 mm 1 41 02050010015 | MmywwTtens 1
9 | 02010020005 | MopLueHb 1 42 | 03040020020 | Waiba 5 2
10 | 02020150002 | Waiba nanbua 2 43 | 03050010015 | LWaiba 5 2
11 | 02020010004 | Maney nopLuHs 1 44 | 03010010051 Bont M5x55 2
12 | 02020030017 | KonbLo cTonopHoe nasnbla 2 45 | 026114710 [poknaaka nog Tennou3oNnsTop 1
13 | 03090020018 | MogwwmnHuK nanbya 1 46 | 70030020016 | TennousonsTop 1
14 | 02020120090 | KoneHsan 1 47 | 03020020012 | Bont M5x20 6
15 | 03090010028 | MogwwmnHuk konexsana 6001 2 48 | 02070010071 | Mpoknagaka nog kapbtopaTop 1
16 | 03100010009 | CanbHuk koneHBana 12x22x7 2 49 | 02050020101 | Kap6iopatop 1




Laampron

Power & force UNnnocTpnpoBaHHbIN KaTanor 3anacHbIX YacTen Mogenb: PP126
17 | 03060010002 LWTndpt kaptepa 3x10 4 50 | 70080120007 Onopa unbTpa KOMNNEKT
18 | 70070050038 KapTep cTopoHa cTapTepa 1 51 03020010012 BuHT M5x16
19 | 02050100015 lMnata cobauek cTapTepa 1 52 | 02020160564 3awwmTa b6aka
20 | 02050070009 Craptep B cbope 1 53 | 03020020053 BuHT M5x12
21 | 03020020029 Bunt M4x16 5 54 | 03020020044 Bont M5x55
22 | 5060010310 LLInoHka maxoBuka 3x3,5x10 1 55 | 02090010011 ®unbTp BO3AYLLUHbINA
23 | 02070010119 lMpoknagka kapTepa 1 56 | 70030040123 KpblLLKka BO3ayLUHOMO (punbTpa
24 | 70070050039 KapTep cTopoHa maxoBuka 1 57 | 02110030079 BonT KpenneHus KpbILLKK dunbTpa
25 | 03010010058 bont M5x25 4 58 | 02110020026 [Mpobka TonnmeHoro baka
26 | 02050030018 MaxoBwk 1 59 | - LLinaHr TONAMBHbIN
27 | 03030020003 laitka M8x1 1 60 | - LUnaHr npaimepa
28 | 03040050052 LLlan6a 6x15x1,2 2 61 02050120002 ®unbTp TONMMBHBIN
29 | 02050160002 CuenneHue 1 62 | 70050030089 Bak TonnmMBHbIN
30 | 03040050042 Lainba 6onTa cuennexus 2 63 | 03040050022 Llainba 5x15x1
31 | 02020130001 Bont kpennexns cuenneHus 1 64 | 026121100 MopeHb KoMnnekT
32 | 80010020078 Kpblwwka cuennexns 1 65 | 02060050026 MopwHeBas rpynna KOMMMEKT
33 | 070030030164 | 3awwta kapTepa 1




LHAMPION'

Power & force

NNnocTpMpoBaHHbIN KAaTaNor 3aMacHbIX YacTen

Mopenb: PP126

Ne | ApTtukyn HanmeHoBaHue K-Bo | Ne | Aptukyn HanmeHoBaHue K-Bo
1 61270020107 | BapabaH cuenneHUs KOMNNEKT 1 20 04035301003 | MopwwmnHuk 6002-2RS 1
2 | 02020050036 | BapabaH cuenneHus 1 21 03120020001 | KonbLo cTonopHoe 1
3 | 03120020004 | Konbuo-thukcaTop 1 22 | 02020160792 | Ban rubkuit KOpoTKuiA 1
4 | 04035303004 | MogwmnHuk 6202-2RS 1 23 | 02020090119 | Brynka wnuuesas 1
5 | 03120010005 | KonbLo cTonopHoe 1 24 | 02020110117 | MpyxuHa 1
6 | 80010060017 | Kopnyc cuennexus 1 25 | 03090010044 | MogwwmnHuk 680272 12
7 | 02080020106 | BubpoumsonsTop wraHmm 1 26 | 02010010178 | CoeamHUTENb NPUBOAHDBIX BANIOB 2
8 | 03120020010 | Konbuo cTonopHoe 1 27 | 02080020109 | Bknagbliw wTaHm 2
9 | 80010060016 | Mydra WraHrK 1 28 | 02010010246 | Ban npuBOAHON HUXHMI 1
10 | 03020020025 | Bont M5x12 1 29 | 02010010198 | LtaHra Hu3 1
11 | 03010010059 | Bont M6x20 4 30 | 61270010151 | LlTtaHra KoMnnekT BepxHAA 1
12 | 03010010021 | Bont M5x20 1 31 70030180404 | Kopnyc nogumnHuka 1
13 | 03050010014 | LWaiba 5 1 32 | 02080020105 | Bryrka Bana 4
14 | 61270010214 | LLitaHra KOMNAEKT HUXKHAA 1 33 | 02010010148 | Ban npuBOAHOW BEPXHUN 1
15 | 80010060020 | CoeauHuTENb WTAHMK 1 34 04100000929 | 3aknenka 3,2x9 2
16 | 80010060021 | Kpblwka CoeauHNTENs LUTAHTM 1 35 04100000938 | 3aknenka 5x11 1
17 | 03040020015 | Laiba 6 4 36 | 02010010146 | LUtaHra Bepx 1
18 | 03050010012 | Laiba 6 4 37 | 70070110038 | Bryrka wnvuesas 1
19 | 03010010018 | Bont M6x25 4 38 | 02020160792 | Ban rubkuit KOpoOTKMiA 1




Laampron

Power & force

NNNoCTpMpOBaHHbIN KaTaor 3aMacHbIX YacTen

Mopenb: PP126

Ne | ApTtukyn HaumeHoBaHue K-so | Ne | Aptukyn HaumeHoBaHue K-Bo
1 03010010057 | Konbuo cTonopHoe 28 1 18 | 03010030009 Bont M6x10 1
2 03120010002 | Konbuo cTonopHoe 12 2 19 | 70030030460 KpbiLuka LWmHbI 1
3 03090010020 | MoawwmnHuk 6001-2RS 3 20 02030030014 BTyrka KpbILLKM LUKHbI 2
4 02020090120 | Ban-wecTtepHst peayktopa 1 21 03030050002 ["anka KpenneHns KPbILUKK WKHbI 1
5 | 80010040040 | Kopnyc peaoykTtopa 1 22 | 02080030033 [Mpoknapka 1
6 80010060022 | Kpebliwka peaykTopa 1 23 | 02080030031 YnnoTHeHWe LnaHra MacnoHacoca 1
7 | 03010010057 | Bont M5x25 5 24 | 03010060050 Bont HaTsxeHus Lenw 1
8 | 03010010061 | Bont M5x20 4 25 | 03030070063 MManew HaTsKeHNS Lienm 1
9 | 03090010028 | MogwwnHuk 6001 1 26 | 03010010034 Bont M6x40 2
10 | 02020090110 | LlecTepHs pepykTopa 1 27 | 70030060132 [Mpobka macnsHoro baka 1
11 | 02020090109 | Ban peayktopa 1 28 | 02070020057 KonbLo ynnotHuTENsHOE Npobkm 1
12 | 80010040039 [ Mnata kopnyca peaykTopa 1 29 | 70050030103 Bak macnsHbii 1
13 | 02050130005 | MacnoHacoc 1 30 | 03020020052 Bont M5x20 2
14 | 03010060055 | Bont M5x16 2 31 | 02080040010 Knana canyHa 1
15 | 02020090108 | Yepesik MmacnoHacoca 1 32 | 01040010011 LLinaHr macnsHbIn 1
16 | 02050110021 | LUanba Begyluen 38e3004KM 2 33 | 61270030085 Penyktop komnnekrt 1
17 | 02050110020 | 3Be3pmouka Bemylas 1




LHAMPION'

Power & force

NNnocTpMpoBaHHbIN KAaTaNor 3aMacHbIX YacTen

Mopenb: PP126

Ne | Aptukyn HaumeHoBaHue K-so | Ne | Aptukyn HaumeHoBaHue K-o
1 70030070333 | PykosTka nesas nonosuHa 1 16 | 61350020009 O6onouyka Tpoca rasa 1
2 02020110109 | MpyxuHa Kypka rasa 1 17 | 02050050246 [poBoaa BbIKIOYEHUS 3aKMraHUs 1
3 70030070333 | Kypok rasa 1 18 | 02050040152 Tpoc rasa 1
4 02020110108 | MpyxuHa npegoxpaHuTens 1 19 | 03030010004 [anka M6 2
5 | 70030070432 | MpenoxpaHuTens Kypka rasa 1 20 | 03020020025 Bont M5x12 1
6 70030070334 | PykosTka npaBas NonoBuHa 1 21 02020040054 Ckoba KpenneHusi peMHs 1
7 | 03010040295 | BbikntoyaTens 3axuraHus 1 22 | 02060050015 Ckoba komnnekT 1
8 | 03010040038 | Bumt 3,5x16 1 23 | 03010020025 Bont M6x45 1
9 03030060007 | laitka M5 10 24 70030180406 MydTa WTaHr BbIABUXKHOM HU3 1
10 | 03010010057 | Bont M5x25 5 25 | 70030180405 MydTa WwTaHrm BbIABUXHOW BEPX 1
11 | 03010010030 | Bont M5x40 2 26 | 70030180407 laiika GapaLuek Myl 1
12 | 03050010014 | Llait6a 5 8 27 | 03030060002 laitka M6 1
13 | 03040020019 | LUaitba 5 2 28 | 03010010065 Bont M5x27 5
14 | 03010010061 | Bon M5x20 4 | 20 |ot2ror20009 | YPTACOPAMHMTENLHR WTaHTM |
KOMNJEeKT
15 | 61270040091 | PykosTka ynpaBneH1s KOMNMeKT 1 30




